
Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



~

Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



& &
&

Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



-

Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



*

Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



#

Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



&

&

Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Find Pmax on RL

-
P = I

to find ViH RL

T -x = F(2k)
12 O ja 1X

= 2[kOC

Ev--
-

21I I =

m +
35 = 12 -2]

3k 5 = 12 = 2 .4

5 MA

- 12 + 2(2 . 4) + Jo . c =
0

-- . c =
7 . 2 volt

7-28th = h =
to find Rth [2 In 18

= 0 .4 KN

Ex Paax=
F = 2 = G MA => 32 . 4 who ,

I2 = - Evx = 12) = 12mi
T

I N = I , + In = /Emb
Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



Find maximum Power transfer on R
4k-

M

ImA 1k .&

- &

3 R
Gr ⑦ zmA

to find Uth

1ky
& &

& ?
ImAFi

I
G G
↑
11
- Iz = ImA-I , = 3 mA

5
2 = 2 mA

4) + 1 + 3 = 0 + + = - 4 volt

Joc - 6 + 4) = 0

I
·. -6
- =0valt

Uploaded By: Mohammed SaadaSTUDENTS-HUB.com



to find Rth

[..
I I
-

Rth = 1k+
+ 1kv = 2k-

than Prax = Ve
FRM

= 12 :So

T

Uploaded By: Mohammed SaadaSTUDENTS-HUB.com


